d. I was winning,

ﬁ\gf Winning and losing

) % @ % % If you are ahead:
%%%%%7%% »* Don't relax

. X7 877 |» Keep control
%/1;/ ”/ Zﬁ/ %/ﬁ »* Swai) pieces off
» %7 %;g)@/ % »* Leave pawns on
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If you are behind:

* Don't give up
»* Get some counterplay ( or at least make a mess!)
»* Swap pawns, not pieces
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How do you want the game to go if you are White? How about if you are Black?

If you’re winning, swap off pieces but not pawns
So that’s what White wants to do.
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If White’s plan is carried out perfectly, we will end up
in a position like this one. Black’s King won’t be able
to defend all the pawns nor keep out the white
pieces, and White will soon have a Queen.

If you’re losing, swap off pawns but not pieces
So that’s what Black wants to do.
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If Black’s plan is carried out perfectly, we might
end up in a position like this one. White is still a
piece up, but White cannot win.

You nearly always have to be at least a Rook
ahead, to win an endgame when you have no
pawns.
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These puzzles are all from the same match!
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